Countonl, 2,3

342 = b+2= 147 = 4+3=
8+3 1+9= B+2= 6+1=
3+7 4+2-= 9+2= 7+2=
1+4-= 3+9= 2+8= D+3=
1+3= 2+1= 6+3= 8+1=




Doubles

3+3 = 6+6= 1+1= 4+4-=
8+8= 2+2= B+b= 2+2=
7+7= 10+10= 9+9= 0+0=




Near Doubles (number neighbors, doubles +1, doubles +2)

3+2 = 6+5= 0+7= 4+3=
8+9= 1+3= B5+7= 6+4=
3+5= 4+5= 9+10= 4+2=
24+1= 6+7 = 6+8= 8+7=
H5+6= 8+7= H5+4= 8+10=




Ten Friends

_ +2=10| 6+__=10 | 9+__=10 | __+3=10
8+ =10 | 1+__ =10 | 7+__=10 | __+4=10
_ +5=10 | 4+__=10 |__+10=10| __+7=10
_ +1=10 [ 3+__=10| __+8=10 | 8+__=10
5+_ =10 | 6+_ =10 | 2+_ =10 [10+_ =10




Bridge to Ten

3+9 = 8+5= 9+7= 8+3=
8+9 /+6= H+9= 6+8=
7+ 4+9:= 9+10= 9+2=
4+8 6+7/= 6+8= 8+7=
8+6 /+8= H5+8= 8+10=




